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A 3E2SA
HE: HPTmet DESHUNIIHT/AUHT)
chel: 23 Jigt =24 (&)
5 - 4
A FB B (B) - HRAY - BES 0l &t o il Bl RE2
OFEsAIY J18g® =30
60,0003 x5 3«73 6,300
OZ&a=sE Z2F FBXACMs IR Kyl
60,000& »4H 240
207 A O] 28,800 78,800 A50,000
02 & AR I 28,800 78,800 A 50,000
OSEPCECH(BIOIHAA S) S/MAIS YAl
72,000, 000& *40% 28,800
405 RHoHF S HI 404,150 424,900 A 20,750
01 AL EZFH S 404,150 424,900 220,750
Ok= ZFH uH 1,350,000 285 CH 384,750
OzZegH 770,000 »20CH 15,400
o234 200,000& »20CH 4,000
HHFE D& 588,281 397,729 190,552
= 11,235
= 15,000
Al 562,046
ANAE 29 2 22 309,727 322,170 N 12,443
201 L2l 214,827 193,984 20,843
01 At 2t 2l 18,474 12,524 5,950
O1.€8t=&H| 15,450
“HIWE ALEE A S|
2,000,0003 «90%<& 2> 1,800
-HEEE0B B2 HAYHOE 2
150, 000 *50H 7,500
—HAMANH 2R E KW 28 E 2
450,000 =7 K 3,150
-HAAM AN DATE X 2 DAT HIOIE ¢
1,000,000& 35 3,000
O5.2 &l 3,024
“HETPALALY LR FALILX 24
7,000 <3 122 «122 3,024
02 =224l 196,353 181,460 14,893
O1.2323LHA 50,400
-2el0l2XAMEIA 23 50,400
SUHES ASMHHAZ  200,0008 128 2,400
=2heEsE 2= 4,000,000& 123 48,000
O3. A€ ZHI=XlHl 145,953
—HU2AAAE RAES 29,720
M MAAE S/W
164,718,000 *8%=*1.1 14,496
CMXEAMAIAE H/W
139,996,000 & *8%=*1. 1 12,320
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T HTE2AMAIAE WAS
33,000,000 *8%*1. 1 2,904
“UHE2ZAIAE(S/WRXE S
29,336,890& *8%*1. 1 2,582
-2ctE2 FANES (MU, XA 22,82
el) 120,347,700 & =8%*1. 1 10,591
-0BS & Storage = X2 == (SANZE &)
317,612,000 =8%*1. 1 27,950
DB A A SRS
96,161,800& *8%*1. 1 8,463
-EotEAIAE 3,049
° H/W 10,080,700 *8%=*1.1 888
°S/W 24,550,000& #8%*1. 1 2,161
—-IP-Store 01 =3t AIAEH |2 5,600
° H/W 12,000,000 #8%=*1. 1 1,056
° S/W 51,630,000& =8%*1. 1 4,544
-l 2l AlAE (FMS) R X 2+
38,000,000& =8%*1.1 3,344
“AAMTROIEZtY AL 11,768
° H/W 133,718,000& %8%*1. 1 11,768
-2e|02AAMEIA AAE SANES 4,454
° H/W 15,909, 0003 *8%=*1.1 1,400
° S/W 34,700,000& *8%*1. 1 3,054
-USB EotAIAE SN E 6,715
° H/W 40,700,000& «8%+1. 1 3,582
° S/W 35,600,000 *8%*1. 1 3,133
~H N2l AIAE HW S22
11,000,000 »8%=*1. 1 968
R ASAAE (quik) = A 22l
1,700,000& »12& 20,400
BEZMAHAAE RXE
61,196,000 *8%*1. 1 5,386
-NHE gatd(2) S
56,396, 3603 *8%*1. 1 4,963
202 oddl 3,240 3,240 0
01 = LH &4 1l 3,240 3,240 0
OCHESEEESAY FAAHHI
60,000 *3H »32! 63| 3,240
403 MtXISHHE X201 & 91,660 82,946 8,714
02 S| 2SO0l CHEHCH & AL B 91,660 82,946 8,714
OANZRHEEHE HoEH KA
80,713,390& » 14! 80,714
OAZR2THAHERAIAE S22
7,022,000 x 14! 7,022
OREURO RXNE=x 3,924 ,000& x 14! 3,924
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= 11,235
Al 35,319
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= 11,235
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O6.2x = 46,554
“AZ2MHAH=E2AA 25 17,714,000& 17,714
= 4,025
Al 13,689
-ANZRESSIIet =S &H] WA 28,840,000 28,840
= 7,210
Al 21,630
2USIAIAHE 2 (EX) 232,000 0 232,000
& 15,000
Al 217,000
207 A OH ] 232,000 0 232,000
& 15,000
Al 217,000
02 & AR EHY| 232,000 0 232,000
O2uLetAAag 22X 232,000,000& 232,000
= 15,000
Al 217,000
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= 76,956
Al 432,412
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HE: HPTmet DESHUNIIHT/AUHT)
Sl XFe Y2at CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
-HEZHEH RAEH 5,600
NUHSS WS (YD, HE)
700, 000& *3CH 2,100
s8s & (M, HH)
700, 000& «5CH 3,500
401 AIEHI L 20 2,000 0 2,000
01 A& tl 2,000 0 2,000
OFEstusx Aole HZEX
2,000,000& =14 2,000
405 Xt&tE SHI 29,500 31,500 A 2,000
01 AL ESFFHEH 29,500 31,500 A 2,000
Os8s 32018 ZFE WA
900,000& »25CH 22,500
OHESWEE =1 7,000,000& 7,000
SOISAMEXA(Ex 245,266 251,888 A6,622
< 60,500
Al 184,766
101 14 Hl 242,866 249,488 26,622
< 60,500
Al 182,366
04 JIZtH 22 XS 242,866 249,488 A6,622
OXNSE=Es 2 el
41,6803 20 x250 208,400
< 60,500
Al 147,900
OXNSHES2ZABHXIAIY wEH & 2+4lH]
2,5003 x20H 210 10,500
O4UEd J12=2 208,400,000& *11.5% 23,966
301 et A= 2,400 2,400 0
09 AL HIZ &S 2,400 2,400 0
OXNSEHES AN W It Ol
60,000 *20H »23] 2,400
ZdEsftsE2 082 66,955 66,833 122
< 16,456
Al 50,499
307 i+l & 66,955 66,833 122
< 16,456
Al 50,499
02 QItFAEXZ 66,955 66,833 122
O30t T )gaeh 29 66,955
] 1,270,000& »4H «12& x90% 54,864
< 16,456
Al 38,408
42" Ol 60,960,000 *11.5% 7,011
-EAs 1,270,000& »4H 5,080
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M ¥ooimel DEoH(UUTRHE/AUNE)
e FAHA 2435 (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
A MH A M3 288,396 459,582 N 171,186
HAMNOIE 89 ¥ 22 288,396 459,582 AN 171,186
201 Bt A | 169,556 165,242 4,314
01 AFR 22l ] 10,800 10,920 A 120
O1.28t=2H| 8,280
~EHOIX YREX ALY
1,200,000 x90%< & 2> 1,080
-SHULEAOE(SH S)EHOX &8
450,000€ x12& 5,400
—uiol 9 AAE HEMK PY
180, 000& *102H 1,800
O5.= &l 2,520
-EHOIX 22l 0422 X SA
7,000& *3H 10 x12& 2,520
02 35244l 158,756 154,322 4,434
O1.33224HMA 59,448
ZTEZ=HOIX & 4,100,000& x12& 49,200
-UMS(SESH A X AIE 2 600,000& x12& 7,200
Al S X3 Y| 110,000& *12& 1,320
“CHoANEA AIEE2 60,000 *12H 720
-2 HIY EHPC BMAlEE 28,000 x30H*12& 1,008
O3. A& &Hl 7 X bl 99,308
-AAX(L4, L2) SXES 56,980,000 *8% 4,559
grgts A2 33,000, 000& *8% 2,640
-Hetgle QI E4 38,000,000 *8% 3,040
-ONSE S &Hl SN2+
17,500,000 *6/ 12%8% 700
NI M E XS & IS EEEH RAES
29,700,000 *10/12%8% 1,980
-HAAE EH KK 24|
115,000, 000& *8% 9,200
-8 Jt4s £28 RAES
62,000,000 *6/12%8% 2,480
—EMC CX300 AE2IX KAEE
37,000, 000& *8% 2,960
—EMC NS120 A E2I X KAES
67,396,000 *8% 5,392
—EMC VNX5300 A &Kl KA
92,000, 000& *8% 7,360
—GHAAAE S22 77,170,000& *8% 6,174
-AWISANH ¥ T2 A E4H|
200,000& =121 & 2,400
Al ARSI 2 RIAIOIE |2
139,000,000 & *8% 11,120
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0 &
-ESAl HE ZHY BAMOE RRNES
88,920,000 *8% 7,114
-S3t FAMOE TNE+ 36,600, 000& *8% 2,928
-[20f HAOIE R4 (HAEE)
500,000& 1201 & 6,000
-AIOIHZ S AAOIE RSB
45,200,000 *8% 3,616
“NHECHERE KRB+ 32,560,000 *8% 2,605
—-AlBl E-Mai (208t ZE)AAE SXE =+
58,000,000 *8% 4,640
-EMS SR 4E |FXNE* 220,000 1204 & 2,640
“AFHUAHBEAAY SANE>
32,000,000% *9/12%8% 1,920
—-E-book AlIAE RXE 40,000,000& *8% 3,200
-HETHAIAE ) EHOIX 28 |2
200,000& »12& 2,400
-IIEE 2 JIAIIHE BoERE |RIAUES
28,000,000 =8% 2,240
202 O4dl 3,240 3,240 0
01 = LH 4 Hi 3,240 3,240 0
Oeled2d =0
60,0003 *3H 3 63! 3,240
207 & O &l 98,600 187,100 88,500
02 & AR I 98,600 187,100 88,500
OAlgl2etel Wi MblA M3
55,0003 x40 2 Xt 12& 26,400
OWaAlZZ2d HM0IE 2,200,000 2,200
O#3.0 3300Ie SmHOIX =
70,000,000 70,000
301 et a = 2,000 3,000 1,000
NMIIEEd= 2,000 3,000 A1,000
OAMOIHuUE fx==Zd & O/HE 4372
2,000,000 2,000
405 RHoHF S HI 15,000 101,000 A 86,000
01 et EZFH S 15,000 101,000 A 86,000
OHAELX OAT & 15,000, 000& 15,000
FEB S0 &= 886,028 846,238 39,790
sStAE 29 306,227 307,078 A 851
201 L2l 279,047 287,298 A8,251
01 At 22l 9,640 10,040 A 400
O1.28==&H| 4,600
SSUNAYDEA Usta B
4,000,0003 «90%<& 2> 3,600
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Slod SEHes 428 1Y
1,000, 000& 1,000
Ob5.= &l 5,040
—EMNE YeET A
,000& x6H 10 122 5,040
02 =524l 269,407 277,258 AT,851
O1.332LHA 225,871
M2 HdAMEBZ(AIU)
21,0003 1303 & =128 *1.1 36,036
-Z0E MEIHEAEE (ML)
3,341,000& x13| & 12 1.1 44,102
-2 E S IPAHYEHAZ(CAE)
241,000& x 13| & 128 *1 .1 3,182
SRIBESN HBIHMD(2E-7H)
286,000 23| & 128 1.1 7,551
-Yetd s Ol = 135,000
cdE=E 1,000& x200S 128 2,400
T SE 35,0003 x143| & 128 5,880
DOD AtEE (AIU)
100,000& 603 & x 123 72,000
*DOD AFEE(2H.5)
120,000 384! Wt A+ 128 54,720
OS8. A€ &I Xl 43,536
-neEd |FRANE=> 250,000, 000& *5% 12,500
DNEFZIIRNE= (AL, IFEA,93])
1,000, 000& 1,000
CXENSI FXNE = 120,000, 000& *4% 4,800
“HSEDANAE RAEs 44,550,000 *5% 2,228
—HHRYANAE RAES 62,600,000 *8% 5,008
-E2NE RAEH(HEL524)
2,000,000 2,000
-S& . VORH RUES(UHEL3A)
5,000,000 5,000
-JIEHEH 2 d2 RSB 5,000,000& 5,000
-FUSAMEdZRE Y THIOHE (2E A A)
1,500,000& x4 3] 6,000
202 O4dl 6,180 6,180 0
01 = LH 4 1 6,180 6,180 0
OSHXH RFANHI
60,0003 x5 +x3 53] 4,500
OAU=S FESHIA A ZAIE SR 0HI
20,0003 «1H 7L 128 1,680
405 XHoHF S HI 21,000 8,600 12,400
01 et ESFH S 21,000 8,600 12,400
OURXNEZE & IPE(MA, DHUAM)
250,000& »20CH 5,000
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Of4dotola (a2 al) 2,000,000 =8CH 16,000
HIYSUY 23 547,121 519,560 27,561
201 Let24d] 477,121 466,560 10,561
02 2324l 477,121 466,560 10,561
O1.332LHA 393,651
-HESNY s 393,651
HOHEE sld= 1M - =7 &)
870,000 23] & x12& %11 22,968
HOHEE sldzE MSHS)
448,000 *293] & x 123 *1. 1 171,495
HOHEE sId= 2M(AFS &)
385,000 *x243| &4« 12& *1.1 121,968
HOIEEE 3l &S 10M(IIEFAL A)
450,000 *133] & x 128 »1. 1 77,220
O3. A& & Hl =Xt 83,470
-N/W&Hl R X £ =4 600,000,000 *8% 48,000
N/WSHEHE IHHAAE S E =4
66,000,000 *8% 5,280
—IPTAIAE | X2l 30,909, 000& *8% 2,473
-2 S3EH X E=H| 394,340,000& *5% 19,717
-HERIANE =dFXLHI (2 AL, SH
s) 2,000,000& x43| 8,000
405 RHoHF S HI 70,000 45,000 25,000
01 et EZFH S 70,000 45,000 25,000
OHHFILE =2 AAXAE WA (poe2dport)
3,000,000 =5CH 15,000
OdHIFILSAY LSs&HH WAl
27,500,000 »24! 55,000
SHEXNY ZUANATY TS A 32,680 19,600 13,080
308 AHAIEHHSOIA 32,680 19,600 13,080
05 HXHMARE = 32,680 19,600 13,080
OsHEXS ZUHANYTUY ASAISH RS
=l 25,200,000& 25,200
ORHeHY OlEAXHAASE RES
7,480,000 7,480
SHEHE ¥ 174,540 235,744 AB1,204
< 53,258
Al 121,282
S H A 43,053 108,915 A 65,862
101 @124l 15,223 26,568 A 11,345
04 JI12ZtHZ22HEE =+ 15,223 26,568 A 11,345
OSHZEAZR B=X 2,789
-QI24H| 41,680 *1H 602 2,501
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Al 7,490
Sk 49,5403 x2H «27 2 *80% 2,141
[ 643
Al 1,498
- ALXI R 22| Kt 45,1903 *4H +27 2 *80% 3,905
< 1,172
Al 2,733
-8 45,1903 «8H «232! +80% 6,652
= 1,995
Al 4,657
OAHEE JIA2RLE= 1,752
—R A2l R, S22l X, AKX 2 el X
16,747,000& *9.66% 1,618
< 484
Al 1,134
- HH & 6,652,000& *2% 134
= 40
Al 94
201 Let24d] 71,806 71,524 282
= 21,542
Al 50,264
01 At 22/l 71,806 71,524 282
O1.d8t=8H| 71,806
NYHEAN d2UsLs2
47,2903 *73H «26 2 *B0% 71,806
< 21,542
Al 50,264
AHSE ASTAHEE) 34,530 33,478 1,052
< 24,171
Al 10,359
101 14 Hl 6,103 5,753 350
< 4,272
Al 1,831
04 JIZHHZ22XEES 6,103 5,753 350
OXA2Z2T = 49,5403 +4H x 14 2,775
< 1,942
Al 833
ogduza =¢ 45,1903 +71 3,209
= 2,246
Al 963
O4UEd JI22E3 5,984,000 x1.98% 119
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Al 35
201 2yt 2 Y| 28,427 27,725 702
= 19,899
Al 8,528
01 At 22l 28,427 27,725 702
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